Trigonometry - 6.6 - Solving Trig Equations October 07, 2016

Assignments for the Week of Oct. 3
« Read 6.5, 6.6
« 45 minutes of Khan Academy
« Textbook assignment due Friday 10/7:
6.5 #1-24 all Inverse Trig Functions

« Textbook assignment due Friday 10/14:

6.5 #25-55 odd Inverse Trig Functions
6.6 #1-21 odd Solving Trig Equations
#61-83 odd

6.6 Solving Trigonometric Equations
Solve for all values of x in the interval [0, 2pi)
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The Square Root Theorem states:

If [£(x)]? = ¢, then f(x) = +Vc

10. sec?2x ++/3secx — V2 secx —/6 =0
(N Vi U A U Ve

SecX <Sec)g+\r§>> -2 (6&0X1'\B> =0

(sec X+@><S&cx~@> =O
Seex+§3 =0, seex-§2 =0
e =-J3
X=sec” (-ﬁ)
x=cos' (- =
KN2L.L ”

AT-2.2 ﬁ

\
[0 Y]
) A




Trigonometry - 6.6 - Solving Trig Equations October 07, 2016

14.2cos?x +1 = —3cosx

Qecos’x + dcosx+ | = O

A +3u [ =0 ) W=Ca3X

LCaex+ = O cosx+1=Q
cosx:_—,‘z cosX=-|

= 2___T, T - j
X= — OL\B - X=10

18. 4 cos®> x = 3 cosx

4 cosPx —Ddcosx = O
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